MATHS

BOOKS - MODERN PUBLICATION

DIFFERENTIAL EQUATIONS
. . d*y

1. is not a solution of— = 1.
o dz’

[dy/dx=5x,y=x"2/2,dy/dx=0]

l o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MzleJ7p9QJx0

2. What is the integrating factor ofthe

equation y’ + ycot x = cos ecx ?

o Watch Video Solution

3. The degree of the differential equation

satisfying \/1 —z? + \/1 +y? =a(z —v)

o Watch Video Solution



https://dl.doubtnut.com/l/_MzleJ7p9QJx0
https://dl.doubtnut.com/l/_c56Vtc16g4Eu
https://dl.doubtnut.com/l/_Mg25LUNeJDdC

4. what is the substitution to reduce

d
% + py = Qy",n>2 to linear form.

o Watch Video Solution

5. Write the particular solution
dy 1
de 14 22’

given that when x=0,y=1.

of

o Watch Video Solution

6. solution of dy/dx=xy+x+y+1is _



https://dl.doubtnut.com/l/_uyCO7ptlj1A0
https://dl.doubtnut.com/l/_rsIjlMbvqRbP
https://dl.doubtnut.com/l/_rS8YxHASIrtm

\ ° Watch Video Solution

7. The differential equation fory = az® + b

IS

° Watch Video Solution

d
8.s0lve:—~ — 2 + z,y(0) =3
dz

° Watch Video Solution



https://dl.doubtnut.com/l/_rS8YxHASIrtm
https://dl.doubtnut.com/l/_tWkjaRpnr2Um
https://dl.doubtnut.com/l/_BDWAGMPFa47P

9. solve: -2 — cos(z + ).
dx

° Watch Video Solution

d

10. soIve:% = cos(z + y),given thaty = /3

when z = 1.

° Watch Video Solution

1. solve:ydx — xdy = zydx

° Watch Video Solution



https://dl.doubtnut.com/l/_t0tJuRU4vd2X
https://dl.doubtnut.com/l/_q0vZrzNyc8FJ
https://dl.doubtnut.com/l/_B3xYmnA48GSm

12. solve:(l + yz)a:da: + (1 — a:z)ydy =0

o Watch Video Solution

13. Find the differential equation for the family

1 1

of curvey = asin™ "« 4+ bcos™ " x.

o Watch Video Solution

dy 2
14. solve:— = —
solve:—~ (z — y)



https://dl.doubtnut.com/l/_B3xYmnA48GSm
https://dl.doubtnut.com/l/_p9xbhwtjHNs1
https://dl.doubtnut.com/l/_m2HEfTdM2NiW
https://dl.doubtnut.com/l/_2hAj1ALBozu7

\ ° Watch Video Solution

15. solve:e  *

o Watch Video Solution

d 1 2
16. solve:—y + Y

=0
dx Y

o Watch Video Solution

17.solve:(z — siny)dy + (tany)dx = 0


https://dl.doubtnut.com/l/_2hAj1ALBozu7
https://dl.doubtnut.com/l/_mGgnX3tO2QOZ
https://dl.doubtnut.com/l/_gycF6vNKtP1N
https://dl.doubtnut.com/l/_r111zsLV4DB9

° Watch Video Solution

18. Find the solution of the following

differential equations:

(:1;2 — y2)d:1: + 2zxydy = 0

° Watch Video Solution

19. Find the solution of the following
differential equations:

(x4 y)dy = (:1;2 — yz)d:p

| e |


https://dl.doubtnut.com/l/_r111zsLV4DB9
https://dl.doubtnut.com/l/_VVjWQ93hFhhv
https://dl.doubtnut.com/l/_GNsE40oNJ6S6

& Watch Video Solution



https://dl.doubtnut.com/l/_GNsE40oNJ6S6

